%

0S C 8 N4-000022000-ZLN| 00007Z000-TLN (OOOTXOSX0S)NOILD3L0Yd ONISVM ILNVY| 6T
8¢ C 9¢ Z0T0-000060T00-0tIN| 000060T00-0VIN GZ=1'SaS0TZ Y04 1S11IA00YD| 8T
TZT T (0] %4 W4-00000T000-2ZW| 00000T000-CLIN SZ=1vZ=p'09=A'ONIHSYM ILNV TV3IS| LT
[irdra T ot 9€0T0-LT 9¢0T0-L1 (EX£2/090=VIQ)SW-1V14-4IHSYM| 9T
Tt TT 0T¢ TIN-S2000-02-WH SZ000-0C-W (6TX82/08d=VIA)dND-¥YIHSYM| ST
Y44 T 0tc €4-£0000-0t-\H L0000-0t-W (rTXSZ/08d=VIA)ONITV3S ¥Igany| 1
Tcc TT (0] 4 ¢v000-LT Zv000-LT PZN LNN XDOTAN| €T
TCC i 0] %4 90v£0-61 90v¢0-61 8'8d-0ETXVZN-AH "XIH-M3YIS| 1T
0oT¢ T 0tT¢ £€600-0C-WH £€600-0C-W ¥ZIN SAS 0TZ HO4 (LIND0d "X3IH) ¥D018 dWV1D| TT
1% 14 90T0-£000C6800-7EW| £€000T6800-VEN 0€€=1S¢C=V 08=d SASOTC 3L¥Y1d 113HS| OT
1% 14 90T0-7000Z6800-7EWN| ZOOOTE800-VEW 088=16277=V 08=d SASOTZ 3LV1d 11IHS| 6
VI 14" 90T0-T000Z6800-¥EW| TOOOT6800-VEW| ('dINOD)6T+0TZT=1S2Z=V 08=d SAS OTZ I1V1d 113HS| 8
1% 14 90T0-000026800-7EN| 0000Z6800-vEW (H/W 1V)0Z€ET=1S¢Z=V 08=d SAS O0TT 3LV1d T1IHS| <L
[43 Ct 90T0-0000T6800-7EN| 0000T6800-VEW 0CET=1SC¢C=V 08=d SAS OTC 3LV1d 113HS| 9
C [4 90T0-£T00009S¥0-LEW]| LZO0009SY0-LEW G€G=1"SaS 08T-0TZ ¥Yvg ¥Y31di1| S
4 4 90T0-92000095¥0-LEN| 920009SV0-LEW (H/W LV)0T6=1"SAS 08T-0TZ Yva ¥I1dI1|
C 4 90T0-GZ00009S¥0-LEW]| STO009SVO-LEW G80T=1'SAS 08T-0TZ ¥vg ¥3L4IT| €
9T 91 90T0-S2000095¥0-LEW| STO009SY0-LEW 0TZT=1'SAS 08T-0TZ ¥vg ¥Y31dI1| T
143 143 90T0-TO0009SY0-LEW| TOO09SVO-LEW 0ZET=1'SAS 08T-0TZ Yva ¥3aL4| T
|ero] aleds yosia [1I’YS po°4
RARUERD W) 9p0o) W3y "ON ‘84@ uondunsaq |edieN "ON IS
740 T -93ed

gz- 2i1nxauuy

oje
[{LF]



het
or R
mill {
ate 1

Annexure-2D

v, . Page 2 of 2
MANHOLE PORTION ,QTY-2
20|MANHOLE PLATE M35-005700000 | M35-005700000-0106 2 2 4
21|FIXING PLATE M-22-012770N00 | RM-22-012770N00-M2 2 2
22|DQG A=400 M-20-01149 HM-20-01149-M1 4 4
23[STUD-M30X210-P8.8 18-02011 18-02011 4 4
24| WASHER-FLAT-MS-70X32X3MM 17-01039 17-01039 4 4
25[NUT-NYLOCK-M30 17-00044 17-00044 8 1 9
26 [SCREW-HEX.HD-M16X35-P8.8 19-03017 19-03017 12 2 14
27 [WASHER-FLAT-MS-45X18X3MM 17-01024 17-01024 12 2 14
28|BOLT-EYE-M24-FORGED 20-001251 20-001251 2 2
CLAMP BLOCK(HEX. POCKET) FOR 210
29(SDS M24 M-20-00933 HM-20-00933-M1 4 4
30/SCREW-HEX. HD-M24X130-P8.8 19-03406 19-03406 4 4
31{NYLOCK NUT M24 17-00042 17-00042 4 4
32|RUBBER SEALING(DIA=$80/25X14 M-40-00007 HM-40-00007-R3 4 4
33|WASHER CUP(DIA=$80/28X19) M-20-00025 HM-20-00025 4 4
34| WASHER-FLAT-MS(DIA=160/27X3) 17-01036 17-01036 4 4
SEAL ANTI WASING,
35(D=60,d=24,T=25 M72-000100000 M72-000100000-FM 4 4
36[GROOVE LIST FOR 210SDS,E=25 M40-001090000 | M40-001090000-0102 4 4
37 [LIFTER BAR 210-160 SDS, L=660 18




ANNEXURE-8'z/

PQC FOR SUPPLY OF RUBBER LINERS FOR GRINDING MILLS:

1. Manufacturer of wear resistant rubber liners of Rod Mills who have supplied similar items items he
to heavy mineral mining/ processing industry treating very hard abrasive ore only need to
submit offer.

2. Party shall have at least two credentials of supply of same item to any one organization for Rod or
Mill size: 2.7Mtr. Dia.X 4.0 Mtr. Long or above of wet grinding overflow discharge type mill for mil
siliceous ore in preceding seven years. Proof of this credential with performance certificate for ate

satisfactory life must be enclosed with offer, failing which offer will be rejected.

After sales service —support

Concerned service engineer shall visit our site in every three months or if any emergency
support is needed whichever is earlier. Supplier will do the wear measurement of lining system
from site in every 3 months. Based on the wear measurement the supplier will submit a
simulation report indicating the following things:

a) Determination of wear rate of liners.

b) Prediction of liner life.

c) Computing the next tentative replacement date.

d) Maintaining a Zero —Inventory of lining system.

e) Avoiding any exigency.

Performance guarantee: Party must mention material of construction of the liners bars,
shell plates and guaranteed life of the liners as below:
e Rod Mills 2RM-1Cliners-Minimum Life 6500 hrs
The firm will have to stand guarantee for liner performance as above.

Security Deposit: Security Deposit of 10% of the order value in the form of Bank Guarantee valid
guaranteed life of the liners. The BG will be released after guaranteed life of the satisfactory
operation of the mill using supplied liners. In case of failure of liners within guaranteed life the
whole amount of BG will be forfeited by UCIL.

Installation & Supervision: Free Installation & supervision to be provided by party.




